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Read the following passage and answer the questions 1 to 5.

Non-probability sampling is that sampling procedure which does not afford any
basis for estimating the probability that each item in the population has of being included
in the sample. Non-probability sampling is also known by different name such as
deliberate sampling, purposive sampling and judgement sampling. In this type of
sampling, items for the sample are selected deliberately by the researcher; his choice
concerning the items remains supreme. In other words, under non-probability sampling,
the organisers of the inquiry purposively choose the particular units of the universe for
constituting a sample on the basis that the small mass that they so select out of a
huge one will be typical or representative of the whole. For instance, if economic
conditions of the people living in a state are to be studied, a few towns and villages
may be purposively selected for intensive study on the principle that they can be
representative of the entire state. Thus, the judgment of the organisers of the study
plays an important part in this sampling design.

In such a design, personal element has a great chance of entering into the selection
of the sample. The investigator may select a sample which shall yield results favourable
to his point of view and if that happens, the entire inquiry may get vitiated. Thus,
there is always the danger of bias entering into this type of sampling technique. But if
the investigators are impartial, work without bias and have the necessary experience
so as to take sound judgement, the results obtained from an analysis of deliberately
selected sample mey be tolerably reliable. However, in such a sampling, there is no
assurance that every clement has some specifiable chance of being included. Sampling
error in this type of sampling cannot be estimated and the element of bias, great or
small, is always there. As such this sampling design gets rarely adopted in large
inquiries of importance. However, in small inquiries and researches by individuals,
this design may be adopted because of the relative advantage of time and money
innerent in this method of sampling. Quota sampling is also an example of
non-probability sampling. Under quota sampling the interviewers are simply given
quota to be filled from the different strata, with some restrictions on how they are to
be filled. In other words, the actual selection of the items for the sample is left to the
interviewer’s discretion. This type of sampling is very convenient and is relatively
inexpensive. But the samples so selected certainly do not possess the characteristic
of random sample. Quota samples are essentially judgement samples and inferences
drawn on their basis are not amenable to statistical treatment in a formal way.
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The Central Idea of the passage is concerned with :

(1} Probability Sampling (2) Statistical Analysis

(3) Random Sampling (4) Non-probability sampling
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Non-Probability Sampling is NOT known by this name :

(1) Purposive Sampling (2) Judgement Sampling
(3} Random Sampling (4) Deliberate Sampling
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Results obtained from an analysis of a deliberately selected sample may be reliable
if

(a) Investigators are unbiased.

(b) Investigators are experienced.

(c) Investigators select a favourable sample.
(d) Investigators use statistical methods.
Answer Options :

(1) All of the above are correct.

(2) Only (a), (b) and {(c} are correct.

(3) Only {a) and (b) are correct.

(4) Nomne of the above are correct.
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Why is the researcher’s judgement vital in the non-probability sampling design ?

(1} Researcher’s choice concerning the items in the sample .is supreme.

(2) Researchers have to work without statistical analysis.

I3) Researchers are not biased.

(4) The design is convenient and inexpensive.
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Which of the following statements is made in the passage ?
(1) Choice of the researcher is very important in Non-probability sampling.
(2) Non-probzbility sampling results in failure of research.

(3} Non-probability sampling helps us estimate sampling errors.

(4) Statistical analysis of quota samples gives accurate inferences.
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Read the following passage and answer the questions from 6 to 10.

Bio-fuel

Henry Ford and Rudolf Diesel these two persons made revolution in motor car
industry. They expected that their motor car should be run on fuel obtained from
plants, but in those days crude oil was the cheapest and won the competition. Petrol
became popular and dream of Henry Ford and Rudolf Diesel shattered. After a century
the will of Henry Ford and Rudolf Diesel is about to fulfil. Presently the hike in the
petrolesum opens the channel for bio-fuel. Slowly the use of bio-fuel in cars, trucks
and aeroplanes is becoming popular.

Brazil took lead in the bio-fuel. At present there are more than four hundred
ethanol production centres in that country, that ethanol produced only from sugarcane.
They do not use the pure gasoline but mixed 25% ethanol in it. In future, only ethanol
consuming vehicles will be manufactured in that country. More and more land is used
for the plantation of sugarcane and ethanol producing plants. “Gasoline cars are
slowly disappearing.” technicians of that country claim.

Ethanol is obtained from maize in America. Germany is the largest producer of
biodiesiel in Europe. Along with India other 30 countries are trying to produce ethanol
from various plants. Ethanol can be produced from the plants like coconut, soyabean,
grounclnut, palm, grapes and beetroot.

The most important thing is that conventional car engines can be run on bio-fuel.
Apart from this, the proper mixture of ethanol in gasoline or diesel can be used as fuel.
The conventional diesel engine can run better in 20% bio-fuel. It means there is no
need to change the vehicle engines for bio-fuel. Its speciality is that Bio-fuel does not
emit carbon-dioxide.

Nature take crores of years to produce crude-oil, instead the bio-fuel is obtained
from the plants and vegetation. Bio-fuel not only emits the low carbon-dioxide but also
does not emit the toxic gases like nitrogen oxide. The production of bio-fuel will be
depending on the growth capacity of the plants and availability of land for the plantation.
Apart from this the production of bio-fuel will be possible from the various types of

waste.
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Use of which of the following source of energy in motor cars shattered dream of
Ford and Diesel ?

{1) Biodiesel (2) Diesel {3) Ethanol (4) Petrol

7. G faum g frad giaes d@ima =@ faEe.
o ; SEEA © @i doe 19 3% T
freret (A) : @ o FHftide SeaEd a4 e
(B) : WSt Joren Seasirges famd argeft ffic 2.
TR T
(1) Fr=Fd (A) 5051 9 (B) TH
(2) frepd (A) =0T (B) SRR
(3) T (a) anfor (B)
(4) Fred (A) o 9 (B) TR
Choose the correct alternative from Statement and Conclusion given below :
Statement : Bio-fuel is alternative to crude oil.

Conclusion (A) : Crude oil takes crores of years to produce.

(B) : Due to crude oil, toxic gases will be created.

Answer Options :

{1) Conclusion (A} correct, {(B) incorrect
(2) Conclusion (A) and (B) correct

(3) Conclusion {A) and (B) incorrect

(4) Conclusion (4) incorrect, (B) correct
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Which of the following statements arc correct ?

la) Brazil took lead in the bio-fuel production.

b} Ethanol is obtained from sugarcane in America.

c) Germany is the largest producer of biodiesel in Europe.
Answer Options :

{1} Only (a) is correct (2) Only (a) and (b) are correct
(3) Only {a) end (c) are correct (4) All are correct
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Which of the following statements are correct ?

(a) Conventional car engines can be run on Bio-fuel.

(b) Gasoline cars are disappearing.

(c) Pollution minimize due to Bio-fuels.

(d) No change of vehicle engines due to Bio-fuel.

Answer Options :

(1) (a) and (b correct (2) (a), (b) and (c) correct
(3) (a), (¢) and (d) correct (4) Above all correct
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Which of the following benefits of use of Bio-fuel are correct ?
{a) Bio-fuel is made from vegetations.

(b} Less pollution by use of bio-fuel.

(c) Use of bio-fuel will save crude oil.

(d} Bio-fuel is cheap.

Answer Options :

(1} (a) and (b) (2) (b) and (c)

(3) (a), (b) and (¢) (4) Above all
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Read the following passage and answer the questions 11 - 15.
Of Force, Criminal Force and Assault

349. Force - A person is said to use force to another if he causes motion, change
of motion, or cessation of motion to that other, or if he causes to any substance such
motion, or change of motion, or cessation of motion as brings that substance into
contact with any part of that other’s body, or with anything which that other is wearing
or carrying, or with anything so situated that such contact affects that other’s sense of
feeling.

Provided that the person causing the motion, or change of motion, or cessation of
motion, causes that motion, change of motion, or cessation of motion in one of the

three ways hereinafter described.
First - By his own bodily power.

Secondly - By disposing any substance in such a manner that the motion or
change or cessation of motion takes place without any further act
on his part, or on the part of any other person.

Thirdly - By inducing any animal to move, to change its motion, or to cease

to move.

350. Criminal force - Whoever intentionally uses force to any person, without
that person’s consent, in order to the committing of any offence, or intending by the
use of such force to cause, or knowing it to be likely that by the use of such force he

will cause injury, fear or annoyance to the person to whom the force is used, is said to

use criminal force to that other.

351. Assault - Whoever makes any gesture, or any preparation intending or
knowing it to be likely that such gesture or preparation will cause any person present
to apprehend that he who makes that gesture or preparation is about to use criminal
force to that person, is said to commit an assault.

Explanation - Mere words do not amount to an assault. But the words which a

person uses may give to his gestures of preparation such a meaning as may make
those gestures or preparations amount to an assault.
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“A” begins to unloose the muzzle of a ferocious dog, intending that he may there
by cause “Y” to believe that he is about to cause the dog to attack “Y”, “A” has
committed

(1} Force (2) Criminal Force

(3) Assault (4) None of the above

12.

Yt A W R 3o = A SR e (‘A =) SEdifie veen AR €
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“A” intentionally pushes against “Y” in the street. “A” has done so without “Y’s”
consent, inteniding to cause injury to “Y”. The act of “A” is

(1} Force (2} Criminal Force

(37  Assault (4) None of the above
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Among the following statement/s in relation to the paragraph given, is/are correct.

(a) “A” says to “Y” that “l will give you a beating” - this act amounts to Assault.

(b) “A” intentionally pulls up a woman’s veil. “A” does so without her consent
knowing it to be likely that he may thereby frighten or annoy her. “A” has
used criminal force to her.

Answer Options :

(1) (a) is correct {2) (b) is correct

(3} f(a) and (b) both are correct (4) (a) and (b} both are wrong

14. "I \F &9 g, Y’ 9" = wudifie suEieen uvamHs) Iad Ul 3 IFed O B
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“Y” 1s bathing. “A” without the consent of “Y” pours into the bath water which he
knows to be boiling with ill intention, “A” has committed

(1) Criminal Force (2) Assault

(3) Force (4) None of the above
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“Force” includes -
{a} Use of own bodily power.

(b) By disposing any substance in such a manner that the motion or change or
cessation of motion takes place without any further act on his part or on the
part of any other person.

(c} By not inducing any animal to move, to change its motion, or to cease to
move.

Answer Options :
(1)  Only (a) (2) (a) and (b)

(3) ({a), (b) and (c} (4) None of the above
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Read the following passage and answer the questions 16 to 20.
Hurdles in PM- Kisan Scheme.

The Modi government’s cash-for-farmers programme has been able to benefit only
half of the 140 millicn farmers targeted in 2019-20 due to implementation hurdles,
according to figures presented in Parliament. The next disbursal, now due, is likely to
leave out those who have not been able to link their bank accounts with Aadhaar, the
universal 12-digit biometric identity number.

Under PM-KISAN, the government provides income support of ¥ 6,000 a year to
farmers with a valid enrolment, paid in three equal cash transfers of ¥ 2,000 -one
every four months . It was launched on 24 February 2019, when the first instalment
was paid.

At the current rate of expansion, the government is unlikely to spend the entire
¥ 75,000 crore budgeted for 2019-20. As on October 21, 2019, the government has
sperit £ 32,577 crore, or 43% of this.

Aadhaar-based enrolment and cash transfers, slow internet connections in many
rural centres and messy land records have slowed the programme, the farm ministry
told a parliamentary panel this month.

Cash transfers vnder the programme take place every four months : December to
Mar:h, April to July and August to November. In the first instaiment period (December
2018 to March 2019), nearly 70.2 million farmers received a total of
¥ 14,055 crore. In the second tranche (April to July 2019), only 59.2 million were paid
a tetal amount of ¥ 11,845 crore. The third instalment saw 33.3 million farmers
benefiting, with a payout of X 6,677 crore.

There’s a reason those numbers look out of place. After all, if 70.2 million farmers
received the first instalment, why did only 59.2 receive a second instalment and only
33.3 million a third ? The agriculture ministry counts the first tranche paid to a
farmer, even if it was paid for the second period due to late enrolment, as the first
instalment paid’. This means even if a farmer enrolled in the second period (April to
July 2019 ) and got his instalment for this period as his first ever cash transfer, he will
be counted among those receiving the first instalment (December 2018 to March 2019).
This inflates the total number of farmers, as shown above.

Ir. all, of the targeted 140 million farmers, nearly 71 million farmers have so far
recsived the payouts, as the ministry noted before the parliamentary panel.
[ would like to make it clear that the total number of farmers who have got the benefit
i3 right now 7,17,42,959", a ministry official said in the report to Parliament.

That leave another 69 million to be targeted by March. Based on these,
23 3 million farmers benefited from the scheme between December 2018 and March
2019 (they have received three instalments), with an additional 25.9 million benefited
from it between Apri. and July {they have received two), and an additional 11 between
August and November (they have received only one).

According to the scheme’s design, farmers registered for the scheme in the first
stage would have received all three instalments released so far since the start of the
scheme. Farmers who registered during the second period would not have receives
the first instalment but would have received the next two, because the benefits are

not retrospective.
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16. oo fau faamm =i -
(a) drLUA.-fFam AemeTTa Sas=a i wed T 6,000 (2730 T U8 g9R) °IF e 9.
(b) ¥ A ToEEEN e W,

WW:
(1) (a) %o UK M2 (2) (b) T TS TR
(3) (a) T (b) T IF oA (4)  (a) 9 (b) S T TR

Consider the following statements :

(a) Under PM-Kisan, the government provides income support of ¥ 6,000 in a
year,

(b) This income support is released in instalments.
Answer Options :
(1} (a) only is correct (2) (b) only is correct

(3) (a) and (b} both are incorrect (4) {a) and (b) both are correct

17. wore faum faeme =
(a) TLTA.-fRER dSten SHoESTEia JevE 39 o,
(b)  TER-yet (SEf) sifioRa el gurE @ TR AT

Wﬂﬁﬂ"ﬁﬁ‘
(1) (a) B ST AR (2) (b) e I 3R
(3) (a) T (b) AT IH A (4) (a) T (b) IrE TR AR

Consider the following statements -

(a) PM-Kisan’s implementation has basic lacunae.

(b) Effective linking of Aadhaar-land records is needed.
Answer Options :

(1) (a) only is correct (2) (b) only is correct

(3) (a) and (b) both are incorrect (4) (a) and (b) both are correct

AT FHTATHTS! SIT/SPACE FOR ROUGH WORK
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18. WA SOFIE Seo@ FOTT Aol TS B & I
(a) ST SR .
(b) V= eTie gl gam.
(c) Vo I TR I=E.

(d)  ifEeren A sTeEEa w.

ﬂ'ﬂl’f'ﬁﬁ}t :
(1) (a) B (2)  (a) 01 (b) T
(3) (c) w (4) (c) 3N (d) FE

The purpose of the scheme mentioned in the passage is :
(a) Aadhaar registration of farmers.

(b) Provision of internet to farmers.

(c) Raising income level of farmers.

(d) Update of land records.

Answer Options :

(1) (a) only (2) ({(a) and (b) only

(3} (c) only (4) (c) and {(d) only

HoAT TG 9/ SPACE FOR ROUGH WORK



A 21 Z13

19. 9. uH.-forum dremama feder 2018 ° A1 2019 SAM=N Iecl €50 ST Tae ByaiE)
Uhs SEALU HL0ATT 3T :

(1) T 14,055 HiEt (2) T 11,845 ®E
(3) T 6,677 Tt (4) T 75,000 =t

In the first instalment of the PM-Kisan scheme between December 2018 to March
2019, cash transfer to farmers was worth rupees :

(1) ¥ 14,055 cr. (2) T 11,845 cr.

(3) ¥ 6,677 cr. (4) ¥ 75,000 cr.

20. W.UH.-fHEM Ferea sHoaTEvid § STSUs aRT
(a) oTYN =X eenfia sifeoft
(b) T A afem
(c) ST Tg=n Hfawn

I I
(1) (@4 (b) P& 2) = (c) Tk
(3) (a) 7 (¢) B 4) whowd

PM-KISAN Scheme has these implementation hurdles :
(@) Aadhaar based registration

(b) Incomplete land records

(c) Inadequate internet connectivity

Answer Options :

(1) (a) and (b) only (2) (b) and (c) only

(3} (a) and (c) only (4) All of these

THeeAT HIATATE! A/ SPACE FOR ROUGH WORK
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Ao SART QTS wral JMUTE 21 § 25 WeAst 3¢ L.
afffereR SemT

WM'W@WWWQWWWHWWWW
HrFTY Trefaar 39E.  HEHE 56 € [Eie FHHUn SrEae S,

Y G TEUS Afyeh oy feis, m TS YU qRH, Me TEURS geaii= SeAM 3T R W0
Gt FETIRA qRraiaEae 3. 1 TSR gt Ao Suyeisraa Tt fam Hes A
3 e frem v 08T o AaE. SRl HwR (1571-1630) AT TEie gt e
ReftaqoniaeT 3 TE-TRIETEE A R YT $1es, d= et anfor fen SweieE Aise W o oy
= A

(1) aﬁmqwﬂhaﬁ?ﬂaﬁaﬁﬂm}amﬁmaméﬁa@mmﬁﬁwﬁqwﬁm.

(11) mmgwmmmmmqmwwmmammemmm
EZGI

(111) I SIUETEN eI Tehtera (TR Hresr=) a7t 1 e were 31 - Sretemre (- ST
TS FHGHTON STHG.

e 'WWSWWQWW%WWWWﬁ H9ST R=Re +h, 99
Re T20r91 geat= 54, h T JedeT TN S5 S, T EEhE 90 6
GmMe

=

(Re + h)?

¥ s F = GEIME- 27 FET 378 = h<<Re.

2
e
3 fiaR o JedYTT ing 39 I, IS g WU o TA .

(1 : Afvee TEEmE feewie : G=6.67x 1071 N.m?/kg2, e oRHH : Me=5.98 x 10%* kg
“A1ftr gese 5 : Re=6.37 X 10° m)
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Read the following passage and answer the questions from 21 to 25.

Physics Passage

The general motion of a massive object under the influence of the Earth’s gravitational
force can be solved in closed form using Newton’s second law. The gravitational force
is given by :

_ GmMe

F 2

Where G is the universal gravitational constant, m is the mass of the object, Me is the
mass of the Earth and R is the distance of the object from the center of the Earth. One
result of this analysis is that Kepler’s laws can be derived for satellites orbiting the
Earth. These three laws were originally discovered by Johannes Kepler (1571-1630)
based on observations of the motion of the planets about the Sun.

They are as follows :
(I}~ All satellites move in elliptical orbits with the Earth at one focus.

(I) A line that connects a satellite to the center of the Earth sweeps out equal areas
in equal times.,

(IlI) The square of the period of any satellite is proportional to the cube of the
semimajor axis of its orbit.

For objects near the surface of the Earth, a great simplification in the mathematics
occurs by approximating the gravitational force to be a constant. Let R=Re+h, where

Re is the radius of the Earth, h is distance of the object from earth surface. The
gravitational force can now be written as :

GmMe

F=_TVe
(Re + h)?

Which is approximately equal to GmI;/Ie when h<<Re. This constant force is usually
Re

set equal to mg, where g is defined to be the free-fall acceleration.

(Note : G=6.67x 10" !1 N.m?/kg?. The mass of the Earth is Me =5.98 x 10%4 kg and its
radius is Re=6.37 x 105 m)

oeAT HMEEN WA/ SPACE FOR ROUGH WORK
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01, TREAE JHaE € STEHM SgEM TS el Uhe, et 9% § feR o ol v, T
agﬂw IRFAHER G TS Jeat ToURTER Thid I8 SfIeeiio., gl SR ardfas e e
EE Y :
(1) TG TegaM TS A G .
(2) HH TEGEM I B FIH HCo,
(3) < T T e TRk
(4) FotE FEE T, HEO T THE ¢ R o seid Henfierg Sefad 9o .

Two balls of unequal mass are dropped from the same height. If the gravitational

force is assumed to be constant, then the theory predicts that they will hit the

Earth’s surface at the same time. If the actual force is used instead, then the

theory predicts :

(1) that the tall with the larger mass will hit first.

(2} that the ball with smaller mass will hit first.

(3) that they will hit at the same time.

(4) nothing, since the equation of motion cannot be solved without the constant
force approximation.

22. 1mﬁﬁwﬁr'wﬁéﬂﬁwwawﬁqmmﬁwﬁaaﬁ?

GMe GMe
(1) G{Re+h] (2) 2G(Re+h)? B) Retn) (4) '——(Re+h)2

Which of the following expressions shows how the acceleration due to gravity
depends on the height of an object above the surface of the Earth ?

GMe _GMe
(1) G(Re+h) (2) 2G(Re +h)? (3)  Reth) 4 Re+hP

23. 'QWWRWWmWW@WWW@WM% R E
R 4 TEN AEAS, T AN FEE AR
(1) R Rl (2) 4 T RS
(3) 8 W ARS (4) 64 T AR

A satellite of mass m is in ci;cular orbit around the Earth at a distance R from
the Earth’s center. If R is increased by a factor of 4, then the period of the orbit

will be :
(1) unchangsd (2) increased by a factor of 4
{3) increased by a factor of 8 (4) increased by a factor of 64

FHoAT HHTEE A/ SPACE FOR ROUGH WORK
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24. Y= FEUET R A SRR TF ST MR FHad g 3me, IUUE ¢ I HIAGA A =
SR &9 A=R24/2 TR, Fote g FEER ol qfad B W, STRe 2¢ AT
STATETS! ST 93
(1) ¢ FHGA STUIT=A TN 32 TN,

(2) ¢ AR AT 4 A T,
(3) & PG UG S FEAF] VB TS,

(4) & DHARA AV TAH GIH IB S,

Consider a satellite in circular orbit around the Earth at a distance R from the
Earth’s center. The area that the satellite sweeps out as it moves through an
angle ¢ is given by A=R24$/2. Kepler’s second law implies that the time that it
takes for the satellite to move through 24 is :

(1) double the time that it takes to move through ¢.

(2) half the time that it takes to move through b.

(3) the square of the time that it takes to move through ¢.
(4} equal to the time that it takes to move through ¢.

25. HWWRmemWWWWWWM
o GmMe(RL - l] TR AR, T & SO Jeafteen e S ot Pt

e R
Fritd FHH ot am et TS 2

Y Y ‘ - L
W ZRP @ PR g ek (4) (2mGRe)”

The amount of energy needed to move a rocket having mass m from the surface of

the Earth to a distance R from the Earth’s center is E = GmMe(Ri — -1%) What is
e

the minimum velocity, the rocket must have in order to completely escape the

Earth’s gravitational field ?

" (2 Gm)% 2 (2 GMEJ%

= = @) (2em” (4) (2 mGRe)”
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U FART AT TR SATEHA W Ue FHieh 26 7 30 ¥t 3w femm.

-mww@ém,ammmmmmwﬁ@mmm‘
?‘Eﬂé‘ﬁﬁiﬁ@mﬁ,mﬁ,w:ﬁmmzmwﬁma@aﬁawwﬁmmﬁ.
S T ST CTESAIER S TR S AEyhRITER @ 9 e e g, S
SR, REAEETT S FIEEE, SR TR § Sgidae aerge fages, et
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FPTfTH .
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Read the following passage and answer the questions 26 to 30.

Plant kingdom includes algae, bryophytes, pteridophytes, gymnosperms and
angiosperms. Algae are chlorophyll-bearing simple, thalloid, autotrophic and largely
aquatic organisms. Depending on the type of pigment possessed and the type of stored
food, algae are classified into three classes, namely Chlorophyceae, Phaeophyceae
and Rhodophyceae. Algae usually reproduce vegetatively by fragmentation, asexually
by formation of different types of spores and sexually by formation of gametes which
may show isogamy, anisogamy or oogamy.

Bryophytes are plants which can live in soil but are dependent on water for
sexual reproduction. Their plant body is more differentiated than that of algae. It is
thallus-like and prosirate or erect and attached to the substratum by rhizoids. They
possess root-like, leaf-like and stem-like structures. The bryophytes are divided into
liverworts and mosses. The plant body of liverworts is thalloid and dorsiventral whereas
mosses have upright, slender axes bearing spirally arranged leaves. The main plant
body of a bryophyte is gamete-producing and is called a gametophyte. It bears the
male sex organs called antheridia and female sex organs called archegonia. The male
and female gametes produced fuse to form zygote which produces a multicellular body
called a sporophyte. It produces haploid spores. The spores germinate to form
gametophytes.

In pteridophytes the main plant is a sporophyte which is differentiated into true
root, stem and leaves. These organs possess well-differentiated vascular tissues. The
sporophytes bear sporangia which produce spores. The spores germinate to form
gametophytes which require cool, damp. Places to grow. The gametophytes bear male
and female sex organs called antheridia and archegonia, respectively. Water is required
for transfer of male gametes to archegonium where zygote is formed after fertilisation.
The zygote produces a sporophyte.

The gymnosperms are the plants in which ovules are not enclosed by any ovary
wall. After fertilisation the seeds remain exposed and therefore these plants are
called naked-seeded plants. The gymnosperms produce microspores and megaspores
which are produced in microsporangia and megasporangia borne on the sporophylls.
The sporophylls - microsporophylls and megasporophylls - are arranged spirally on axis
to form male and female cones, respectively. The pollen grain germinates and pollen
tube releases the male gamete into the ovule, where it fuses with the egg cell in

archegonia. Following fertilisation, the zygote develops into embryo and the ovules
into seeds.

ol HTHEES SIMT/SPACE FOR ROUGH WORK
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26. I IO € SHAGE AT AR A THA S FohTHl T AR
(a) o e qoird e o
(b} e fGurRie qaty alsr o7e.
(c) i faum quis g 1.
(d) = faurmde qaid 5% .
qHiE I
(1) %% (a) (2) (a) <707 (b) (3) W (d) (4)  (b) 3T (c)
Algae is dependant upon other living organisms for their food and they have
various pigments in them.
(a) The above statement is completely correct.
(b) The former half of the above statement is correct.
(c) The above statement is completely wrong.
(d) The former half of the above statement is wrong.
Answer Options :
(1) Only (a) (2) (a) and (b) (3) Only (d) (4) (b} and ()
27. & T YO AT WO A% ST Ty ARE <t TE.
(1) &= (2) STEEEY
(3) SR HSER e (4) aletiet TEEl el
Plants having well differentiated vascular bundles; but lacking proper seeds are
(1) Algae (2) Bryophytes
{3) Gymnosperms (4) None of the above
28, AT SITHN A sgem S EHeH 9O B

(1) EfeineAe & gareiiree aied

(2) AR S Yo ded

(3) Infedrrpsien S Feilfreat aed

(4)  TTERERTStE S R e

[n gymnosperms, microspores are produced in

(1) Megasporangium borne on Microsporophyll
(2) Microsporangium borne on Microsporophyll
(3) Megasporangium borne on Megasporophyll
(4) Microsporangium borne on Megasporophyll

FoHT HIATES 9T/ SPACE FOR ROUGH WORK
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29. FAFEY T DT oS T IR .
(1) 3% Teife ey, (2) o T TeTEEey
(3) T e TRy (4) e R wRwEe
In bryophyta, haploid spores are produced in
(1) Multicellular sporophyte (2) Multicelluar gametophyte
(3) Unicellular gametophyte (4) Unicelluar sporophyte

30. T TS WEIGTEH! P T SEE Yam 2
(a) VarB

(d) IFEY wSH S

Tt I

(1) % (a) (2)  (a) 0for (b)

(3) (c) v (q) (4)  (a), (b), (c) MW (d)
Chlorophyll pigment is present in which of the following plants ?
(a) Algae

(b) Bryophytes

(c) Pteridophytes

(d) Gymnosperms

Answer Options :

(1) (a) only (2} (a) and (b)

(3) {c) and (d} (4)  (a), (b), {c) and (d}

AT HWTATE AT/ SPACE FOR ROUGH WORK P
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Read the following passage and answer the questions from 31 to 35.

When sewage is dropped on land, the bacteria present in the soil attack on it and
convert the content of sewage into plant food. The latter gets utilized by the roots of
the plants or crops. The organic matter present in sewage undergoes decomposition
by aerobic and Non-aerobic bacteria, but it is profitable to provide aerobic conditions for
the disposal of sewage by land treatment. The oxygen that is required for aerobic
decomposition, is present in different layers of the soil. The CO, produced as a result
of decomposition is given by the soils and in turn, atmospheric oxygen is absorbed.
This interchange of oxygen and carbon dioxide take place by wind movements, difference
is temperature and pressure, drainage of soils and many other processes. When
sewage is applied on land, the chemical process of oxidation takes place in which
organic matter of the sewage is oxidised by bacteria. Filtration is the principal physical
action that is involved in the purification of sewage by land treatment. Sewage as it
passes through the layers of the soils gives out suspended particles which are retained
by the voids of the soil. In presence of sufficient aeration, these particles are oxidised
by aerobic bacteria. This physical action mainly depends on the nature of the soil.
Most suitable and satisfactory filtration takes place in porous, loamy or sandy soils.
The heavy soils such as clay are not very suitable for filtration, while rocky soils are
most unsuitable for filtration.

The major portion present in sewage is water, and it can be used for irrigation.
Sewage also contains nitrogen, potash, phosphate, organic acids etc and so it has a
good fertilizer value, because these constituents present in sewage can be directly
used by the plants for their growth. In this way, sewage increases the fertility of the
soils and also improves the condition of the soil. The type of crop that can be grown,
mainly depends on the quality of sewage and health regulations concerning the use of
sewage on Ccrops.

31. wiEUvAEs yow fee BTE/RI 3TE.

(a) Hfew gepef (b) HrEI=T
(c) <hUT UgY (d) TRt
Waﬁ‘i‘:

(1) (a) =nfor (q) (2) (b} sTifor (d) (3)  (c) 37w (q) 4) (d)
The major portion of sewage is made up of :

(a) Organic matter (b) Nitrogen

(c) Particulate matter (d) Water

Answer Options :
(1) (a) and (d) (2) (b) and (d) (3) () and (d) (4)  (d)

FHeAT FHMAHIE AT/ SPACE FOR ROUGH WORK
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32. TETIH! HIORT feram T TR ?
(a) Wﬁmmmw,@ﬁﬁmmwﬁ@ma@.
(b) TRy A e R we e S .
(c) T TS Wi o1 Wi Giuwdr FH L.
(d) T S, T YEder S A STl S T

Wﬂfﬁ?ﬁﬁ' :
(1) % (b) = () (2) W () M (d)
(3) (a), (), () (4) (b)), (c), (d)

Which of the following are incorrect statements ?

(a) A non-aerobic decomposition is not preferred over an aerobic decomposition
by bacteria.

(b) Porous soil is not preferred for filtration.
(c) Organic acids present in soil decrease the fertility of soil.
(d) Rocky soils are unsuitable for filtration and non-aerobic decomposition.

Answer Options :

(1) Only (b) and (c) (2) Only (c) and (d)
(3) (a), (b), () (4) (b}, (c), (d)
33, WEUTITY GHEEH e EaiW = B
(a) ifaes foren (b) TEEES fa
(c) HHIT SHAFIES (d)
P
(1) (a), {e) (2)  (b), () (3) (b}, (d) (4)  (0), (¢} (d)
The sewage is converted into plant food by :
(a) Physical action (b) Chemical action
(c) Carbon dioxide (d) Bacteria

Answer Options :
(1} (a), (¢ (2) (b), {c) (3) (o), (d) (4) (b), (c), (d)

HoAl FHERS A0/ SPACE FOR ROUGH WORK



A 33 Z13
34. wiewvarA Sfae] "rkd Srom=n Qifse ST wieda ,
() HEYIF ATSH SFTFAS 81 T FRTAING el Sl
(b) TR A FlH SEA G SR AN SAFIS ) 2
(c} wfren fafay o Syosy smeer FE TEslaEE aTIe SRl
it 3T
(1) (a) SnfoT (1) 2 (o)
(3) (b} A (c) (4) i How T
During the aerobic decomposition of sewage, by bacteria
(a) the required oxygen is directly taken from the atmosphere
(b} the produced carbon dioxide is interchanged with the atmospheric oxygen
(c) the carbon dioxide present in different layers of soil is used
Answer Options :
(1} (a) and (b) (2)  (b)
{3) (b) and (¢} (4) None of the above
35. TEASIH HIE faum ot o ?

(a) Y & PMow frar e,

(b) T TR ST SR ARG FH SRS S STeomes TR
B ST,

(c) Tigunf, sifiet gl sean.

(d) ﬁ&uwxﬁw%@ﬁﬁﬁm#ﬁ@mmaﬁﬁﬁ.

Wﬂﬁﬂ"ﬁﬁ‘:
(1) % (a) 30T () (2) T (a) W (d)
(3) = (b) 3 (4) (4) (a), () it (d)

The correct statements from the following are :
(a) Filtration is a physical action.

(b) The interchange of oxygen produced in soil and atmospheric carbon dioxide
is temperature dependent.

(c) Sewage increases the fertility of soil.

(d) Decomposition of organic matter by bacteria could be aerobic or Non-aerobic.
Answer Options :

(1) Only (a} and (¢) (2) Only (a) and (d)

(3) Only (b) and (d) (4} . (a), (c) and (d)
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Read the following Passage and answer the questions from 36 to 40.

Political education may be defined as the preparation of a citizen to take well
informed, responsible and sustained action for participation in the national struggle
for the realization of the socio-economic objectives of the country. The overriding
socio-economic objectives in India are the abolition of poverty and the creation of a
modern democratic, secular and socialist society in place of the present traditional,
feudal, hierarchical and inegalitarian one.

Under British rule, the Congress leaders argued that political education was an
important part of education and refused to accept the official view that education and
politics should not be mixed with one another. But when they came to power in 1947,
they almost adopted the British policy and began to talk of education being defiled by
politics. ‘Hands off education’ was the call to political parties. But inspite of it, political
infiltration into the educational system has greatly increased in the sense that different
political parties vie with each other to capture the minds of teachers and students.
The wise academicians wanted political support, without political interference. What
we have actually received is infinite political interference with little genuine political
support. This interference with the educational system by political parties for their
own ulterior motives is no political education at all; and with the all-round growth of
elitism, it is hardly a matter for surprise that real political education within the school
system (which really means the creation of a commitment to social transformation)
has been even weaker than in the pre-independence period.

At the same time, the freedom struggle came to an end and the major non-formal
agency of political education disappeared. The press could and did provide some political
education. But it did not utilize the opportunity to the full and the stranglehold of
vested interests continued to dominate it. The same can be said of political parties as
well as of other institutions and agencies outside the school system which can be
expected to provide political education. Most things considered, it appears that we
have made no progress in genuine political education in the Post independence period
and have even sided back in some respects. For instance, the education system has
become even more elite-oriented. Patriotism has become the first casualty. Gandhi
gave us the courage to oppose the government when it was wrong, in a disciplined
fashion and based on principles. He believed the means to be as important as the ends
and taught us to work among the poor people for mobilizing and organizing them.
Today, we have even lost the courage to fight on basic Issues in a disciplined manner
because agitation and anarchic politics for individual, group or party aggrandizement
has become common. The education system of today continues to support the domination
of the privileged groups and domestication of the underprivileged ones. The Situation
will not change unless we take vigorous steps to provide genuine political education on
an adequate scale. This is one of the major educational reforms we need; and if it is
not carried out, mere linear expansion of the existing system of formal education will
only support the status quo and hamper radical social transformation.
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36. U foeom i sfre @ s ?
(1) sfasarren wafim fawmme 39+ 2,
(2) THAMSF AN e S
(3) feorneafued 3 Sfgs Foed TR w0,
(4)  Safires TTA T,/ B0 MRS ST FEA <0,
What should be the ultimate objective of political education ?
(1) To foster all-round growth of elitism.
2) To create an egalitarian society.
(3) To prepare students with high intellectual acumen.
(4} To provide genuine support to educational institutions.
37. SAIHER TSTF feore S were i TR Aer wH SR 2
(1) R ST T RISUE SR | TS qadE TE el
(2) A URIT A Ha faoren st W fee.
(3) i g TEd S SEIe S Swe Y TR e,
(4) i 37 Frvard Frair S F, oS TS IA WL § WA I 6.
According to the passage, what is the main contribution of Mahatma Gandhi to
the field of political education ?
(1) He spread ‘Political Literacy’ among the people through non-formal political
education.
(2} He emphasized the need for Keeping education free from political interference.
(3) He taught agitation and anarchic politics in a disciplined manner.
(4) He macde us believe that our political end should be compatible with the
means.
38. WA@Y RO HUT @Y AL ?

(1) T HUTA SRR Ttk R uaTH Had e,

(2} TG ey e T Toem Sues e fE

(3) T e T e ST .

(4) ToEE faem & afaes wre Sy Qe 7.

Which of the following statements is not true ?

(1) Freedom struggle helped to educate people politically.

(2) Political parties provide proper political education.

(3) Political education is necessary for bringing about social change.
{4) Political education is aim and means of individual.
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39. famm Sufore owdms) g1 g HIvET R ?

(1} f foreromen fafew wide X smuia 1R,

(2) o faemeaten 7R Y& foafod A

(3) o Irad dvitarg enfor fawmemER) wET= AR,

(4) @ FE wfae a6E FEY 39,

Which is the major problem of the present education system ?

{1) It is based on the British Model of education.

(2) 1t does not inculcate values to the Students.

(3} It is highly hierarchical and Inegalitarian in nature.

{(4) It perpetuates the domination of the few privileged.

40. AT Herforr Hedrwed TTRRUTS WeY F9 8 2
(1) T TSR SRIITRTET Uit WSl W e,
(2) T TASThTT TEANTEE TSIk 4 WISHan fieg vkl T,
(3) T YSThIT TSR 3ed TS TSt U A,
(4) T TSI TALTEY 3T THHT TSN WS A,
How has politics been related to educational institutions after independence ?
(1) They got political support without political interference.
(2) They got no political support with political interference.
(3) They got mere political support with political interference.

(4} They got mere political support without political interference.
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TEies SANT ST TaT 3MeTid Woh. 41 ° 45 =iet Iuv fort.
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T S, eI T SRS W SIS, W TTheT Herd IS, Henihe Tdt=d
TR ST ST T U e SR T S I ST o A I S, S §
01 N WEV, W SN gan i, T e Sieed e o fHee 1 g -afsee
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41, AJESI AEHAA S0 HIUA ?
(1) .91 A" Y2 S, (2) =9 T YT B,

(3) oMol AfeweET=n U= THO.  (4)  STeHdETS I SO,

42. Y IR IE Fd A Ao ?
(1) 37a 30 T | (2) 7=n ygfaud

(3) TEEH : ¥ W (4) &< HHSAET shedl Hiv ?

43. PR JeAl 9 = Al win Sew e

(a) TS HEFR (i) ¥EHE gEHl 39

(b) AT 3EHR (ii) TNIEH foeme wm

(c) AHF FEHR (iii) At Mg gefa
(d) s fREwR (iv) AfFETar sf=g 9o
it 3y ;

(@) (b} (c) (d)
(1) (iv) @ii) (i) ()
(2) (i) (1) (iv) (i)
(3) i) (iv) (i) (D)
(4) () () (i) (iv)
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44, A= TR T Fie U B ?
(1) ‘=ifa 3 afe e’ ToIdET o A
12) ENSENTRREA W EES e
(3) ISt HeAHE

4} AR HeTHRE Yo Wil

45. AT WS BEH YA Hesw -

(a) TEpATHS TS (i) OrEHATIEE
(b) SIS HRTOR (ii) STHFTAOHG!
(c) THM AN (iii) g FHet
(d) AT (v) HETETE e
watdt WY ; |

(@) () (c) (d)
(1) (v) () (@) (i
(2) (i) @) @) ()
(3) (i) (v} (i} (1)

(4) (i) @) (@ 6
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Read the given passage carefully and answer the question S.No. 46 to 50 on the
basis of the content of the passage.

The richness of great books shows itself in the many levels of meaning they
contain. They lend themselves to a variety of interpretation. This does not mean they
are ambiguous or that their integrity is compromised. The different interpretations
complement one another and allow the reader to discover the unity of the work from a
variety of perspectives. We need not read other books more than once to get all that
they have to say. But we can always go deeper into great books. As sources of
enlightenment, they are inexhaustible.

The interest in many good books that are written is limited to a definite period of
history. They do not exhibit the universal appeal that results from dealing with the
fundamental questions which confront men in all times and places and in a way that
men in all times and places can understand. Great books, on the contrary, transcend
the provincial limits of their origin. They remain as world literature. The ones we are
sure are great, are the once men everywhere turn to again and again through the
centuries.

In view of this, it is often said that great books must pass the test of time. This is
quite true. But it is not the passage of time that makes the book great. They were
great when they were written. An enduring interest in a book merely confirms its
greatness. We may consider some contemporary books great, but we cannot be sure.
Their excellence still remains to be proved before the tribunal of the ages.

Mark Twain once remarked that “the great books are the books that everyone
wishes he had read, but no one wants to read.” People wish they had read them
because they are the indispensible material of a liberal education. They shy away
from reading them because these books require thought. And thinking is hard. It is
probably one of the most painful things that human beings are called upon to do.

The great books are not easy to read. No one should expect to understand them
very well on a first reading, no even to master them fully after many readings. I have
often said that they are the books which are over everyone’s head all of the time. That
is why they must be read and re-read. That is also why they are good for us. Only the
thing which are over our head can lift us up.

46. Choose the best option :
The great books provincial limits.
(1) consider (2) justify

(3) illustrate (4) rise above
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4’7. Choose the best option/s :
‘(ireat books must pass the test of time.’

Which of the following statement is the closest in meaning to the above
statement ?

(a) Great books must pass our tirme.

(2) Great books must be considered great over a long period.

(c) Great boolks must be ready to test time.

(d} Great books should pass the test conducted from time to time.

(1) f(a) and (d (2) (b) (3) (d) (4) (c) and (d)

48. Choose the best option according to the passage :

~he difference between good books and great books is that
(a) great books are read quite often but good books are read rarely.
(b) good books are read all over the world while great book are not.

fc) great books have universal appeal and the deal with all time basic issues
related to human beings but good books have limited time appeal.

(d) great books pass the test of time but good books may not.
(1) (a) and (b) (2) (c) and (d)
(3) (b) and (c) (4) Only (d)

49. Which of the following statements are true in the context of the given passage ?
(a) Great books require thought.
(b) Good books are world literature.
(c) Hard thinking is not painful for man.
(d) Great books do not have universal appeal.
(e) Longlasting interest in books make them great.
(1) (a) and (2] (2) (&), (b) and (c)
(3) (d) and (2) (4) (b} and (d)

50. Choose the best option/s :

The richness of great books shows itself in the many levels of meaning they

(1) control (2) envelop (3) prevent (4) have
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ﬁﬁ%waﬁﬁwmaﬁ'fwmﬁr& B, C, D, E, F, G afw H = faeneafqq =
HH TR F AR, WG F H A 69 1 Wt e S, W 4Eie SAATaR 99 2 3 v fraw,

Tieed HoId S U ke fram ar faane samer w4, g et waa e v
e TR, WWWCﬁAWWWWWWWQ@W
FTH FAA SAES T A @ H TeH 91 TIovar 3o a1 Jloaai. BaF 3§ C siiet Seeas &5
FE YT . E @ A9 D Ar=ATeRiIsR SARHE HIW H& Whal T G SR &1 99d T,

(1) AB,FSE (2} B,F,E4D (3) A,C,DIE (4) C, B DIE

Two teams are to be formed for completing two different projects in stipulated
time using students A, B, C,D,E, F, Gand H. If G and H are selected as the
members of team 1, select the members of team 2 with respect to the following
conditions.

There should be at most five students or at least four students in a first team.
Each student is to be selected for only one project. For smooth working it is
useful to include C along with A as they enjoy working together but A and H
always waste time in debating. B and F are not comfortable to work with C.
E comfortably works with A and D but not with G.

() AB,FandE (2} B,F,EandD (3) A,C,DandE (4) C,B,D andE

52.

[EEURICISRECENE

) @) o Tl

Select the odd object :

(1) ~— (2) (3)
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53. @ Frod T e snft fedem fauride g frekd fraer

e RO A we i fruren wge gewien geen e o,

ferart

(2) mﬁfwmmﬁﬁ@maﬁﬁwmmﬁﬁ%wm
fraTe W Hede v o,

(b) wﬁﬁﬁmmmwﬁﬂwwﬂﬁ@mm#ﬁawﬁw
e g ST

wafdt 39T

(1) % (b) (2) (a) 0 (b) THE T

(3) (a) ¥ (b) T (4) FH (a)

Study information given and select valid conclusion/s from the given statements
hased on it.

In a joint family the number of members who take only coffee is equal to the half

the number of members who take tea and the number of persons who take only
tea is equal to the half the number of persons who take coffee.

Statements :

{a) The total number of persons who take either coffee or tea or both is thrice
the number of persons who take only coffee or only tea.

(b) The total number of persons who take only coffee and those who take only
tea is twice the number of persons who take both coffee and tea.

Answer Options :
(1) Only (b) (2} Neither (a) and (b)

(3) Both {a) and (b} (4) Only (a)
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54. Yero wifedr s1vam snfor St vt e,
w1 foshir feare wromER T S WA N A Aoy s T Y g ory s
37 RHIY 3 3T, T fewhmolt Tm fen B W femi ermaT e wEEt fawet S
ﬁ%mmﬁmwmﬁwﬁmwmaﬁqﬁamww
R:¥ ST %S TR H § % T
S:¥WHFETE. PAYFS TR
T:eH FF T T w8 % ¥ 71 9 T,

it 3 :
(1) R
(2) S
3y T

(4) WWWWWWWWWW

Study the following information and select guilty person.

Ram was visiting a place where inhabitants always answer any question with two
sentences. One of these is always true while other is always false. While on the
visit he found that his bag has been stolen and he suspected three persons those
visited his guest room. He was sure that only one person is guilty. When he
questioned them they replied as follows.

R : S did not do it. I'did not do it.

S : 1 did not do it. P did not do it. ,

T : 1did not do it. I did not know who did it.

Answer Options : :

(1) R
(2) s
(3) T

{4) There is no logical consistency in replies for making decision with réépect to
given conditions.

55. fot A9 wmen s WEHITR RIS e CeHoet aTquan @i, o' @t 8 YT 93 st
R AR e 21.0 §ohe ST, SR 13 W 953 R 501 T 13,5 Hohg TIEE. W
ﬁﬁwwwwmmmmmmwﬁwmmﬁm
(1) 22 (2) 33 (3) 27 (4) 222
Vini travels by monorail to work. She has to use escalator to reach the platform.
It takes her 21.0 seconds to reach the top of the escalator if she runs 8 steps. If

she runs 13 steps it takes only 13.5 seconds. Select the number of seconds that
she would require to reach the top of escalator if she decides not to run any step.

(1) 22 (2) 33 (3 27 (4) 22.2
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56. TH FgEE WS f sidfdiad F1 oM. Sder dthes Frerom &ToFeerea ged Tkl U2
7 % Tldfem oo T fee.

n Y @ 37 B 7 @) 3

An equilateral triangle is inscribed in a circle. Select the option that indicates
how many times is the area of circle with respect to the area of triangle.

W Y @ 37, @ *Tays 4 3

57. UWW“WWWWWWMWWLM,N,O,PHQ?ITQ'HT&T
won Faeshaen e M,P,NHQWWWWM%WWWM
WS AR L,MHQW@WWWWWﬁ%Wﬁm.L,MaNW
AR ?

(1} P (2) N (3) L (4) M

There are six books kept in a steel rack and are pasted with signs as L, M,N, O, P
and Q. M, P, N and Q have blue covers while others have red covers. L, Mand Q
are new volumes while the rest are old volumes. L, M and N are law books while
the rest are engineering books. Then which new book of law book has a blue
cover ?

(1} P (2) N (3) L 4) M
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58. wmwﬁmﬁﬁwwﬁwmmﬁﬁmﬁwm
yeRaE, e o qul o S fdfire om oty e,

faur

(a) X T TS UHE TFIE W0 UHE e A Teoed T,
(b) X 41 =oRd IS Tl AT WOt Fiessiyes AT,

(c) XA 9@ WelKiie Wi amiies giiesmsr faam 5w aroht s,
(d} X o HeE Vel el A et gt .

it 39y

(1) (b} & (d) (2) {a) 9 () (3) (a) F (b) (4) (a) 3 (d)

Two of the four statements given below cannot be true simultaneously but they
can be false at the same time. Select the option that indicates the pair of
statements that satisfy given conditions.

Statements :

{a) No citizen of smart city X wastes a single drop of water.

(b)  Some citizens of smart city X use water carefully.

(c) Every citizen of smart city X uses water without caring about water crisis.
(d) Some citizens of smart city X use water carelessly.

Answer Options :

(1) (b) and (d) (2} (a) and (c) (3) (&) and (b) (4) (a) and (d)
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59. m@g@wrmﬁwﬁmmﬁﬁuw%wmﬁ. I CIRGE]
e SR afud F 9 T T SRTES 9 wien Y Foen afeaten i
favoa . ﬁﬂmﬁmmwﬁmﬁ%wmﬁmmﬁa@

FT HEAH At FEAAE O Goe dHed . ST FRAA HOHAT HEHEATIE
@mmﬁﬁsmmwmmmﬁmmmaﬁ

1 Tfedten SR e [Ere A Sron faur e e

(1) maﬁwmwmmmmmmmwm.

(2) FRITATE] ST ST B e S G we HHE IR

(3) mﬁwmsﬁdﬁm@ﬁﬂﬁﬁaw@fwmmaﬁm@ﬁwwm.
(4) nﬁwﬁmﬁﬁmmﬁﬂnﬁaaﬁmﬁaﬁmﬁﬁmﬁma@

Sana wanted to compare her students’ performance after completion of present
term with respect to Historical understanding. After analysing their documents
related to history activities and assignments and their records of class work, she
found that Ashu’s performance level is higher during the term than that of Beena.
Karim’s performance is of lower level than that of Dharm. Beena’s performance
is of lower level than Karim’s and Ashu’s performance level is higher than Mike.

Which of the following statement based on above information is incorrect ?

(1) It is not possible to decide ascending order of these five as there is no
sufficient information about Mike.

(2) Beena certainly ranks fourth when performance is arranged in descending
order.

(3) Ashu’s performance is not definitely of high quality when compared with
other four.

(4) If we are not considering Mike then Dharm’s performance is definitely of
high quality than Karim and Beena.
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60. FINAH! UhHATHISR SS THYS BRI REavt STl s1aran snfn $ o 9 siwid fena e

(1) 49 (2) 50 (3) 55 (4) 51

Study the accompanying figure showing overlapping equilateral triangles and select
the value of angle a in degrees.

(1) 49 (2) 50 (3) 55 (4) 51
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61. &I M sz & fededn waidiqT = anentea ey Frend e,
(a) ThE AEET Foole T AAH! FARTNSTSA Ferw T A .
(b) el & T T S .
(c) T3 - IEEaT T TR HeoATh e Tarraeh feddt S
ﬂﬂﬁﬁi’:
(1) T TR FEAE HoH 1Y A dHd .
(2) SO T et anf ST We S e .
(3) e T ST T faRneat ST ek Sredea s e o fReh
formaht fivex.
(4) o fadeait umd o wfedtefl gum .

Study the following statements and select the valid conclusion based on these
from given options.

{a) Members of farmer’s families only can appear for the agricultural university
admission examinations.

(b) Some girls are appearing for admission examination.

(c) All girls candidates are given free coaching for one NGO.

Answer Options :

(1) Members from every farmer’s family are appearing for admission exarnination.
(2) All persons attending coaching class conducted by NGO are girls.

(3) All students appearing for competitive examination get free coaching in classes
conducted by NGO.

(4) None of the above given conclusion is relevant to information.

62. Fom T WM <R TEiits gen fefee. T e A I At e wAe Wt firede
mwﬁﬁerﬁﬁﬁmwaﬂawmﬁa 186, 206, 215 3701 194 =1 =i THe.

(1) 93 (2) 103 (3) 81 (4) 73

7ina has written down four natural numbers in column. She chose three of
these numbers at a time such that all numbers had equal chances of getting
added. Each triple she came up with sums 186, 206, 215 and 194. Select the
largest number that Zina has written.

(1) 93 (2) 103 (3) 81 4) 73
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63. WifEdl srsyr anfty foren Hewla fafvaaysr wen s e frae

A3 SR B T C oA TiwA Yol SR, D S E A W B S S S A T g
mwwﬁEmeWWwamE%mcwmuﬁaﬁma@

(1) A9RE = 0= 5 AR

(2) E ¥ WA =7 W S0 R,
(3) D =W C = T THE I,
(4) C = = A =1 SR SR TR,

Study the information and select the statement that is definitely true with respect
to it.

A’s house is located to the east of houses of B and C. Houses of D and E are
located to the north of B’s house. In the early morning shadow of E’s two storied
house falls on D’s house. E’s house located to the west of C’s house.

(1) A’s House is located to the east of E’s house.

(2) E’s house is located to the north of A’s house.

(3) D’s house is located to the north of C’s house.

(4) C’s house is located to the south of A’s house.

64. P 1 Wi W&t 11 3 [ @@ 33 & Hen fowas: N TSI 9 F WIS sty Ay Y Framred,
Eéwaﬁ%wmmmpﬁmm%qﬁﬁam

(1) 1 (2) 3 3) 6 (4) 15

A natural number P is multiplied by 11 and 33 is added to it. This sum is divided

by 9 and the remainder is zero. Select the smallest value of P that satisfies given
conditions.

() 1 (2) 3 (3) 6 (4) 15
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65. 1@%@@@@@@%%&@%3@@%%@@. afis
WW@WW@WW%WWW@&%WWW
WHWWWWEWWWWWWWWWW
S TS, wﬁmmﬁmmmwmwmﬁmm. g
m:w@aemﬂ%@mﬁwaﬁwmm%mzwﬁammmﬁ
A e famvag w9 . mmwﬁ%ﬁmmwwm@m

i gRFaTEET HMR NS 3 ek JEo qarangT FeEet

(1) T S TETE TR HE o e B A

(2) ERTS HE TS S gATie fahlael TR Hw.

(3) T 290 ek YAGS TARIgol FEl SR,

(4) mmwmmwﬁmwwwm

A kidney can e taken safely from a living person, and can save the life of a dying
patient. Given that the demand for kidney transplants exceeds the supply of
donated kidneys, the law in the India that forbids people to sell one of their
kidneys should be abolished, because this would result in a greater number of
successful kidney transplants. People are worried that it would involve rich
patients exploiting poor potential donors. But selling one’s kidney to support
one’s family is not very much different from supporting one’s family by working in
a dangerous occupation. Some patients have bought kidneys and received
transplants ir. other countries, where the risks to their life from such operations
can bhe great.

Select an assumption supporting the above argument from following options.
(1) Poor people are not able to receive kidney transplants.

(2) Some people in India are willing to sell a kidney.

(3) Kidney transplants carried out in many countries are rarely successful.

(4) Changing the law would ensure an adequate supply of kidneys for transplant.
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66. TETE ASE A(WW)WB(WW)W@HW@H&W

e smardeh sEeen TGS afTE wa@, SR 2014 FFH A FuT Frafa B 91 Sueen
ﬁaﬁﬁwgmz@?ﬁ.mzommé}AWaﬁaﬁm%momsﬁmmaﬂth

2.0
1.7
1.5
1.2 * *
1.0 L v & -
0.7 *

0.5

(1)

(3)

r

2013° 2014 2015 * 5016~ 2017 208"
T 260

fergr el =t

T 500 (2)

T 470 (4)

Accompanying graphical representation shows ratios of export to import of two
companies namely A (with squares) and B (with triangles) over the given years.

In 2014, export of company A was double to that of company B. If the import of
company A during the year 2014 is ¥ 400 crores, select the most nearest
approximate export of company B during that year.

2013 2014 2015 2016 2017 2018

% 500 (2) %260

T 470 (4) Data is not sufficient
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67. feodh mied aTwH SrwY AH o = A sl ferE BT O’ H T R WY C T I
T, P C WS R A’ ol B R Sl AR, Q@ ¢ < g o', R E P e 3.
@ aqfn P E SIS AR T ¥ S T .
(1) S-R 2) P-Q (3) B-Q 4 T-R
Select the pair of persons one of whom is the uncle from mother’s side and his
niece respectively using given information. ‘B’ is the father of ‘C’ but ‘C’ is not his
son. ‘P’ is the brother of ‘C’. ‘A’ is the spouse of B’ ‘)’ is the daughter of ‘C". R’
is son of P’. “3"is spouse of P’. ‘T’ is father of ‘S
(1} S-R (2) P-Q 3) B-Q 4 T-R

68. TS <R faeT S0 arg fe oM. g fao farer wed R afre, feorea faumiTan

ik g A ST ST,

framy . w9 R o0 e
TE THY 7 HR AT
F18 HR faag e,
Td feae TR R

AR : (D) TR T EE ST,
(1) e T AR
() e feam a9 oea.
Tt I
(1) ThE TETE (2) FH () T (3) W () W& (4) R () FH
Below four statements and three conclusions are given. You have to take the
given statements to be true. Decide which of the given conclusions logically true
from given statements.
Statements : All roads are buses.
Some buses are cars.
Some cars are days.
All days are nights.
Conclusions : (I} Some nights are buses.
(II) Some nights are cars.
(i) Some days are buses.

Answer Options :
(1) None true (2) Only () true {3) Only (L) true (4) Only (l1l) true

69. I TE & wEH Tl o4 STTFH 50 f 7§ 35 WA, R, S g 9T 21 B
e Fea v = Tt T g afte ?
(1) 25 (2) 45 {3y 30 (4) 32
The diameters of the bigger wheel and smaller wheel of a tractor are 50 cm and
35 cm respectively. How many revolutions will the smaller wheel make when the
bigger one makes 21 revolutions ?
(1) 25 (2) 45 (3} 30 (4) 32
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70. Wﬁmaﬂaﬁw%mmmwmﬁmm@ﬁmaﬁwmmm
SHEHS 139 8 WIRom ST et Fraen,

WW:WWWWWWWWWW
ATH! W SFRRIN R, 51 =) =1 ot YT ST YETOT SRIaed 3 HE qHH
wmamwwﬁmmmwmwmmmﬁ
Ww:wﬁ@mwwﬁmwwmmwmﬁaw
ST WIS Wi 3 e Sevart g wysead) oo o

RUGECE R mﬁ.émmmvmmwwwﬁﬁéwaﬂﬁ o]
HIFT ST @ e D1 Wi g, THE T HAEUAREIES ¥ 9% GeuITs W Sgeiers
A U 19 S,

(1) T e TRITIS W Ry oR] el 3 a1 T

(2) mwmwmwﬁmwwmm?@.

(3) mewwm@ﬁmsﬁwmﬂaﬁmwm?@
(4) mm@mmﬁqmammmmmmmm.

Read the following conversation carefully and using this as evidence, select the

option that serves as a conclusion pointing to the disagreement between treasure
hunter and archaeologist.

Treasure Hunter : In general, archaeological artefacts found on public property
cannot legally be privately owned. Centuries-old maritime law allows persons
who risk their lives attempting to rescue a sunken ship are permitted to keep
whatever cargo they can salvage. Under this rule treasure hunters clearly are
entitled to keep the cargo from ancient shipwrecks that they risk their lives to
save from becoming extinct in salty ocean waters.

Archaeologist : Not so. These shipwrecks have stabilized over the centuries they
have lain underwater. The only danger they are in is from greedy treasure
hunters who destroy valuable archaeological evidence in their hurry to loot
artefacts for making high profits.

(1) Whether maritime law can be ever applied to a ship that has already sunk.

(2} Whether is it legitimate to call antique shipwreck in public waters as private
property.

(3) Whether a treasure hunters risk their life when they salvage shipwreck.

(4) In what sense, if any, an ancient shipwreck can be said to be in verge of
extinction.
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71. @kﬂa,mﬁmaﬁwwmﬁrhszsmmﬂﬁa%mwﬁag&m. 4 fgaHR HeTEd
ﬁmwymmmwwa@ Y T e AN T eoh qATaan
e e, adeER S TR gAY Rt ?

(1) 4:3:5 (2 6:5:10 3y 5:6:10 (4) 10:5:6

Sanjay, Ashok and Ketan started a business with their investment in the ratio
1:3:5. After 4 months, Sanjay invested the same amount as before and Ashok
as well as Ketan withdrew half of their investment. What is the ratio of their
profits at the end of the year ?

(1) 4:3:3 2) 6:5:10 (3) 5:6:10 4) 10:5:6

72. 15 @9 5 7 vfean qrAmd 10 TeEiy affd TE HEET AR, gfirdta wHEE 6 AfgarEn
A STHT wTe Tl R TR AR w80 ?

(1) 10011 (2) 10010 (3) 11010 (4) 12740

A committee of 10 members has to be formed from 15 men and 7 women. [n how
many ways can this be done when the committee consists of at least 6 women ?

(1) 10011 (2) 10010 (3) 11010 (4) 12740

o1 HTHMEE AT/ SPACE FOR ROUGH WORK
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(1) WWWWWWMWWWWW

(2) WWWWW%%WWWWWWHW
mﬁmwmmuﬁﬁwmwaﬂmm,

(3) WWWWWWWHWQMWWWW
mm@wﬁﬁamzwﬁﬁammﬁa@aﬁwaﬂ%

(4) W@WWWWWWWWMW&W
WWWWWWWWWWWWW
3.

The research published in the ‘Journal of Clinical Endocrinology and Metabolism’,
is the first of its kinds to investigate the association between the chemical triclosan,
exposure with bone mineral density and osteoporosis. A person can be exposed to
triclosan via consumer products like soaps, toothpastes, sanitizers and other such
products. ‘However little is known about the relationship between triclosan and

have potential to adversely affect the bone density in animals,’ said one scientist
studying effects of triclosan.

Select the most appropriate conclusion based on above information.
(1) It is necessary to ban use of triclosan in the products listed above though
very little is known about its effect on animal bones.

(2) Since exact effect of triclosan on human bone is not known, there is no need
to take any precaution about its use in different products used by human

(3) Since the association between triclosan and its exposure with bone mineral
density is already investigated, it is necessary to ban its use in various
products used by human beings.

(4) Since some studies have demonstrated that triclosan may have potential to
affect bone density in animals, it is necessary to ban its use in various
products used by humans,

AT HAEES AN/ SPACE FOR ROUGH WORK PT.O
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74, S vEHFE THAGH five . uﬁﬁﬁ@mﬁﬂmmmmﬁ@sﬁﬁpwﬁé P 9 TS
qzﬁqahf-?lfsma113@@QWE@.Q%W@WW@WWWRW

fiyaren fam. EﬁREﬂqugmfsﬁ%fm%atsm@wamﬁm@mm.
(1) 195 (2) 210 (3) 126 (4) 378

A

S is having some colourful sea shells. She gave one third of these shells and 14
more besides to P. P gave one third of these shells and 11 more besides to Q. Q
gave one third of these shells and one more besides to her friend R. If R got 14

shells from Q then select the number of shells S originally has.
(1) 195 (2) 210 (3) 126 (4) 378

75. ﬁmﬂwﬁﬁmmﬁaﬁammmwwmﬁmﬁww
ﬁwmmmwmwmmwammmwmu@

>

Study the transparent papersheet given on the left-hand side that is folded to get
triangle of small size by folding it along dotted diagonals bisecting each other and
diamond shape formed due to these and select the most appropriate fold from the

options.

AN

Answer Options :

N
W 2& @ @ k “
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Decision making and problem solving question no. 76 - 80,

76. WW%@WWWWWWWWWWE&QW
@mv@gﬁmﬁﬁaﬁmﬁa@m?ﬁam. I FHE SIS SR ST
Ofhdt Tufeq FH oM. mmﬁmwmmﬁﬁwmmwﬁaﬁ L)
Wﬁwmﬁaﬁwaﬁ%gﬁmwm A -7 Ftaret wr g

(2) aﬁ%ﬁtaﬂmﬁﬁm@mwﬁmmwﬁéﬂmqﬁmmw
LT S TR TS W JUHe qviT w0,

(3) maﬁsﬁﬁfméw@aﬁaﬁa&mwaﬁqwmaﬁmaﬁwﬁm

(4) WWWW@HWHWWWWWW%
ﬁmﬁaﬁaﬁﬁmﬁwyﬂfwmmm

Your boss was responsible for some decisions related to changing quality of some
product for increasing profit but unfortunately that was run into losses due to fall
in sales. The management of the company compiled a committee to enquire into
this problem. This committee called for your deposition regarding this issue.
Your boss wants you to defend the decisions taken by her. She is likely to remain
your boss for next two-three years. You would,

(2} ... just give the impartial account of what has happened that might result in

(3) ... give the fare account and emphasis how she summarily rejected the
suggestions given to her by her junior assistants like you related to this
matter

(4) ... show your lack of knowledge related to this matter for saving your boss

from embarrassment and your professional relations with her.
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7. gmwwmmmmmmmwmw i ERCCRIE]
nmmmmmammmﬁwmmmmm
wfiferd TR 95T FEE AR e SEoT AR HEER See TE ERE e
amm%smmmﬁwmw:wﬁw‘ﬁmmm; TR TR
U@ wE 3T RO UF 54 . wmmwﬁmma‘wwﬁmaﬂwaﬂ%’
smmmzﬁmmmmmmmwmmmmm
ammm:‘m@mmmmmmmmmmma@f@mﬁ
e e it e, WWWWWWWWW 1,50,000
< VI STEE. 1 TRT WeE T T T TR ... AR e M e
(1) ...ﬁaﬁvﬁ‘mm%’aﬂmﬂs‘émw(?)mmmﬁmﬁaﬁmmﬁmﬁm
HATH MIIE.... .

(2) ...mmmmﬁmwmwmmwm

(3) ...mfsmmmmmﬁﬁﬁmmﬁmﬁﬁm@mm
ST QAR R TR e[ W A Ha e Werd AL

4) ...m:mmmaﬁmgﬁﬂﬁuﬁ@ﬁ?ﬁam@wmmwﬁm
aﬁﬁaagﬁmm@mammmwﬁmwm

You are a member of one active group that organizes cleaning sessions in your
area. After reading the news that a safai karmachari dies every five days in
India, all members of group have become restless want to work toward changing
this situation. You all are quite aware of the fact that the wretched manual
scavengers briefly makes news when there is a sewer death due to asphyxiation
or accident, but no authority is heard saying : ‘This is our problem : well fix it
You all are aware of the fact that though many notable persons talk of manual
scavenging as a “spiritual experience” for any scavenger cleans other people’s
excreta because there is no option and no alternative employment for those born
into the castes identified with scavenging. According to estimates of some agencies
numbers of scavengers in our country is closer to 1,50,000. As a member of this
group you will persuade other members to give priority for...
(1) collecting funds and finding innovators for developing technological gadgets
that cen take over the grossest (?) task of scavenging.
(2) tackling it as a social problem as the safaj karmacharis come from castes,
which have a long history of manual scavenging and enduring discrimination.
(3) assisting scavengers to get empowered to fight injustice as when person
grow i1 such a caste her or his ability to stand up 10 injustice is rendered
lame &t birth.
(4) using social media for making people at large sensitive toward plight of these
people and invite them to come together to pressurize government to make
their life safe and at least not a curse and for collecting needed fund.
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78. T TH WWWWWWWWWWWW

ST S e FrieTarel sifaeft wevp sefted Terarh fordt R et ek s
ﬁmmmwwﬂwﬁmmmmmmﬁm.
ﬁ?ﬂg@ﬁmﬁwmmﬁa&ﬁqﬁmﬁwﬁmﬁﬁ@am%wm
TR ST T YR UTSe ST 91 St 9ifas, IS =t g% i FRom g @
W@EWWW%WWWW, T e FOAH o TR
e e,

(1) ...mmw%mqmm,mzwmwﬁwmwmﬁma

fﬂ@fﬂﬁﬁm&@ﬁﬁﬁﬁﬂgﬁ%ﬁ%ﬂ%wmamnﬁﬁ%m
(2) ...%@W,Wmmm:ﬁmwmmwmﬁvﬂa
(3) ...mmmamwmmWMam
(4) ...mﬁﬁm@wq@mmmzmmwmwwﬁm

As the senior civil officer in-charge of some area, you are requested to be guest at
the annual gathering of privately run old age home. While travelling to this place
you came across many small settiements where tribal people were living in depleted
shanties, though the area is full of natural resources like forests, rivers, springs
and water ponds. When you inquired, people told that all the resources were
grabbed by developers of old age home, forcing them to settle in small areas.

They also told you that since people running old age settlement and inmates of

the home are from high cast and they prevent these people from using river

water, having a bath in the river or do fishing, using forest produce etc. Your
priority will be to :

(1) make and execute a plan for empowering people in the area with the help of
teachers of the colleges from urban part of the area who are interested in
assisting their students in getting practical experiences related to the
theories of humanities and sociology by procuring funds from corporates.

(2) cancel your visit to the gathering by expressing your distress about the
situation, order the authorities of old age home to give these people their
dues and allow them to enjoy resources in the area.

(3) attend the gathering, get correct information about the situation and convince
the organizers and inmates to have some sympathy towards the real owners

of the resources during your speech in a friendly manner.
(4) don't take any action as you believe that everyone has to live with one’s fate.
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ﬁ'mﬁmﬁ%mmwmﬁwmmw. R &1 g Ufs e
m:wmmmmwﬁmmmmwmwwmwaa
. %W@Wmﬁmwmmwmmmm
ammsmmﬁﬁmmwm 77 gffeda gt ___ WEHA
ATes.

(1) Wﬁﬂémmwmmwmmmﬁw

HR o TG IS FOITH ...
(2) | FoaTR] AR ST 39d STEAS IS TH IS HA ...

(3) ...am\wwmuﬁﬁaﬁwﬁwmammaﬁwmagm

(4) ... UEET ST VA T F S A IHE FLAA ..

You are working as the head of a NGO that is specialized in environmental audit.
Your team has compiled a report about government owned power generation units
that use coal Your report shows that these units grossly violate pollution norms.
Some government officials are threatening you that they will cancel registration
of NGO for which you are working with for making this report public. They are
pressurizing zovernment laboratories for submitting favourable report about these
units and th's would tarnish the credibility of your NGO. In this situation your
priority is to ...

(1) ... get vour findings confirmed from another laboratory that is run by
organisation engaged in similar work and then disclose the results to public.

(2) ... disclose the report as it is and put the blame on outdated machinery.

(3) ... subnit this report to the higher authority and wait for their response by
giving them sufficient time for investigation and implementing correcting
measures.

(4} ... disclose the report to the public without caring about the threat.

5T THHETEEST ST/ SPACE FOR ROUGH WORK
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(3) I 3= U7 diery Foraryy awarﬁrwﬁa@mmﬂéaaﬁasaﬁﬁrszmm

b

(1) study how these persons are trying to implement new research basged
Processes, design product by recognizing the new or changing needs of the
society or markets, and how they plan to apply and employ technology to
their vision and then select proposals.

promoting entrepreneurship in the state.

-00o0-
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(3) mww:imﬁmwﬁaﬁm(ma%)m. mmmmmmm

wwﬁmﬂn%ﬁmaﬁwﬁﬁa@,aﬁmﬁaﬁaammm
Sift S gl B AR A T SEm-82 ! A TR HAT FAK
ﬁbawmm@mmm/mm@mmmmmaw

(@) u-awm@mmmaawmﬁmmmmw
ST TEET AR, mﬁmmmsﬁaaﬂﬁmmm—1wmw
ForerET TR ST TETEE JNE.
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u.mzm.ua“ﬁﬁ*amwmwmm&m:mﬁ?
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